
  

Roll No: 
Registration No: 
Name: 
Exam Date: 09-Dec-2020
Exam Time: 09:00-11:00
Post Name: Vidhyut Sahayak - Junior Assistant

Registered Photo Exam Day Photo

GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1 Marks: 1.00
Bookmark     

Which initiative programme of the government provides 32 High Quality Educational
Channels through DTH?
સરકારની પહેલનો કયો કાય��મ ડ�ટ�એચ મારફત ઉ�ચ �ુણવ�ાની 32 શૈ��ણક ચેનલો �ૂર� પાડ ેછે? 
(A) SWAYAM Prabha (Correct Answer)

�વય ં(SWAYAM) �ભા

(B) Vigyan Jyoti 
�વ�ાન �યો�ત

(C) ShaGun 
શ�ુન (ShaGun)

(D) NIDHI-PRAYAS 
�ન�ધ-�યાસ

Question No.2 Marks: 1.00
Bookmark     

Which one of the following countries is not a part of BRICS association?
નીચેનામાંથી કયો દેશ ���સ (BRICS) સંગઠનનો �હ�સો નથી?
(A) South Africa 

દ��ણ આ��કા

(B) Brazil 
�ા�ઝલ

(C) India 
ભારત

(D) South Korea (Correct Answer)
દ��ણ કોર�યા

Question No.3 Marks: 1.00
Bookmark     

What is meant by Paleolithic age?
પાષાણ �ુગ (પેલેઓ�લ�થક એજ) એટલે �ું?
(A) Old Bronze Age 

�ાચીન કા��ય �ુગ

(B) Copper Age 
તા� �ુગ

(C) Iron Age 
લોહ �ુગ
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(D) Old Stone Age (Correct Answer)
�ાચીન પાષાણ �ુગ

Question No.4 Marks: 1.00
Bookmark     

Which of the following is a primary sector activity?
નીચેનામાંથી કઇ �ાથ�મક �ે�ની ��ૃ�� છે?
(A) Cotton Mill 

�ુતરાઉ કાપડની �મલ

(B) Fishing (Correct Answer)
માછ�માર�

(C) Banking 
બૅ��ક�ગ

(D) Food delivery 
ખોરાક �વતરણ 

Question No.5 Marks: 1.00
Bookmark     

Which parallel latitude runs in Southern Hemisphere?
દ��ણ ગોળાધ�મા ંક�ુ ંસમાંતર અ�ાંશ પસાર થાય છે?
(A) Antarctic Circle (Correct Answer)

એ�ટાક� �ટક �ૃ�

(B) Magnetic North Pole 
�ુંબક�ય ઉ�ર �ુવ

(C) Tropic of Cancer 
કક��ૃ�

(D) Arctic Circle 
આક� �ટક �ૃ�

Question No.6 Marks: 1.00
Bookmark     

Who is the first Indian to get “United Nations Military Gender Advocate of the year
Award”?
'�ુનાઇટડે નેશ�સ �મ�લટર� જે�ડર એ�વોકેટ ઑફ ધ યર' મેળવનાર �થમ ભારતીય કોણ છે?
(A) Major General Ian Cardozo 

મેજર જનરલ ઈએન કાડ�ઝો

(B) Major Suman Gawani (Correct Answer)
મેજર �ુમન ગવાની 

(C) General Bipin Rawat 
જનરલ �બપીન રાવત

(D) Captain Vikram Batra 
કૅ�ટન �વ�મ બ�ા

Question No.7 Marks: 1.00
Bookmark     

What is the full form of BHIM, an Indian mobile payment app?
ભારતની મોબાઇલ પેમે�ટ એપ, BHIM (ભીમ)�ુ ંઆ�ુ ંનામ �ું છે?
(A) Bharat Indian Money 
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ભારત ઇ��ડયન મની

(B) Banking Interface for Monetary Service 
બૅ��ક�ગ ઇ�ટરફેસ ફૉર મોનેટર� સ�વ�સ

(C) Bharat Interface for Money (Correct Answer)
ભારત ઇ�ટરફેસ ફૉર મની

(D) Banking Interface for Money 
બૅ��ક�ગ ઇ�ટરફેસ ફૉર મની

Question No.8 Marks: 1.00
Bookmark     

Where was the first Khelo India University Games held?
�થમ ખેલો ઇ��ડયા �ુ�નવ�સ�ટ� ગે�સ �ા ંયો�ઇ હતી?
(A) Gujarat 

�ુજરાત

(B) Odisha (Correct Answer)
ઓ�ડશા

(C) New Delhi 
નવી �દ�હ�

(D) West Bengal 
પ��મ બંગાળ

Question No.9 Marks: 1.00
Bookmark     

Where does Standard Meridian of India pass?
ભારત�ું �મા�ણત યા�યો�ર �ૃ� (�ટા�ડડ�  મે�ર�ડયન) �ાંથી પસાર થાય છે?
(A) Visakhapatnam 

�વશાખાપ�નમ

(B) Kolkata 
કોલકાતા

(C) Hyderabad 
હૈદરાબાદ

(D) Mirzapur (Correct Answer)
�મઝા��ુર

Question No.10 Marks: 1.00
Bookmark     

What is the full form of ISBN, a number used to identify books?
�ુ�તકોની ઓળખ કરવા માટનેો એક નંબર, ISBN (આઇએસબીએન)�ુ ંઆ�ું નામ �ું છે?
(A) International Serial Book Number 

ઇ�ટરનેશનલ �સ�રઅલ �ુક નંબર

(B) International Standard Book Number (Correct Answer)
ઇ�ટરનેશનલ �ટા�ડડ�  �ુક નંબર

(C) Intermediate Standard Book Number 
ઇ�ટરમી�ડયેટ �ટા�ડડ�  �ુક નંબર

(D) Indian Standard Book Number 
ઇ��ડયન �ટા�ડડ�  �ુક નંબર
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ENGLISH KNOWLEDGE - ENGLISH KNOWLEDGE

Question No.1 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word "
GAMBOLLING ".

(A) Declining 

(B) Disadvantage 

(C) Jumping (Correct Answer)

(D) Opening 

Question No.2 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A lover of good food

(A) Veteran 

(B) Pacifist 

(C) Insolvent 

(D) Gourmand (Correct Answer)

Question No.3 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.

(A) Inagurate 

(B) Flurescent 

(C) Behaviour (Correct Answer)

(D) Imagineble 

Question No.4 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who deliberately damages other people’s property
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(A) Novice 

(B) Arboreal 

(C) Vandal (Correct Answer)

(D) Oasis 

Question No.5 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

Greenland invites the Home Minister __________ new corridor inauguration.

(A) for (Correct Answer)

(B) across 

(C) about 

(D) beneath 

Question No.6 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

Although he have been with his partner for more than 30 years, Rohan remains legally
unmarried.

(A) has been with his partner for (Correct Answer)

(B) has been with his partner beside 

(C) have being with his partner for 

(D) The given sentence is correct 

Question No.7 Marks: 1.00
Bookmark     

Rearrange the following to form a meaningful sentence and find the most logical order
from the given options.

P: in office for certain roles
Q: the new option is for those employees who
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R: that cannot be done from homes
S: do not need to be physically present

(A) SQRP 

(B) QSPR (Correct Answer)

(C) PQRS 

(D) QPRS 

Question No.8 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.

(A) Scavenger (Correct Answer)

(B) Nominaetion 

(C) Hypothezis 

(D) Underneeth 

Question No.9 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. If the
sentence does not have any error then select the option 'NO ERROR'.(Avoid punctuation
errors)

(A) Every student in / (B) our college must / (C) bring their own food. / (D) NO ERROR.

(A) C (Correct Answer)

(B) A 

(C) D 

(D) B 

Question No.10 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'. 

For students, the death of a friend or a loved one can be confusing and disorienting.
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(A) can confusing and disorienting 

(B) can be confused and disorienting 

(C) can confuse and disorienting 

(D) The given sentence is correct (Correct Answer)

Question No.11 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

They are good at ________ English.

(A) a 

(B) an 

(C) the 

(D) No article (Correct Answer)

Question No.12 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.

(A) Narcisist 

(B) Spectakular 

(C) Magasine 

(D) Language (Correct Answer)

Question No.13 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Article from the given alternatives.

Rohan is willing to participate in _________ elocution function conducted by our
institution.

(A) a 

(B) an 

(C) the (Correct Answer)
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(D) No article 

Question No.14 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
ABDICATED ".

(A) Renounced 

(B) Waived 

(C) Relinquished 

(D) Pursued (Correct Answer)

Question No.15 Marks: 1.00
Bookmark     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who often talks of his achievements

(A) Funambulist 

(B) Egotist (Correct Answer)

(C) Psephologist 

(D) Reciprocate 

Question No.16 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. If the
sentence does not have any error then select the option 'NO ERROR'.(Avoid punctuation
errors)

(A) The distribution of products from the / (B) outlet to the stores is a major / (C) part of
the association’s business operation. / (D) NO ERROR.

(A) C 

(B) D (Correct Answer)

(C) A 

(D) B 
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Question No.17 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.

My relatives are ready __________ attend the function this weekend.

(A) by 

(B) for 

(C) to (Correct Answer)

(D) since 

Question No.18 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word "
RESURRECT ".

(A) Energize (Correct Answer)

(B) Agitate 

(C) Bore 

(D) Hurt 

Question No.19 Marks: 1.00
Bookmark     

Rearrange the following to form a meaningful sentence and find the most logical order
from the given options.

P: the bank had posted a net profit
Q: corresponding January-March
R: of Rs. 969 crore in the
S: period of 2018-19

(A) PQRS 

(B) PRQS (Correct Answer)

(C) RSQP 

(D) RPQS 

Question No.20 Marks: 1.00

ww
w.
ex
am
mi
x.c
om

Visit -  www.exammix.com & Free Download, All Previous Question Papers (Hindi & English)

Free Downloaded From  -  www.exammix.com



Bookmark     
Choose the word which expresses nearly the opposite meaning of the given word "
TRENCHANT ".

(A) Acerbic 

(B) Caustic 

(C) Blunt (Correct Answer)

(D) Effective 

MATHS AND GENERAL SCIENCE - MATHS AND GENERAL SCIENCE

Question No.1 Marks: 1.00
Bookmark     

Two trains are running at 319 km/hr and 121 km/hr respectively in the same direction.
Faster train completely passes a man sitting in the slower train in 59 seconds. What is
the length of the fast train?(in metre)
બ ે�નેો એક જ �દશામાં અ�ુ�મ ે319 km/hr અન ે121 km/hrની ઝડપે દોડ� રહ� છે. ઝડપી �ને ધીમી �નેમાં
બેસેલા એક માણસ સમ� 59 સેક�ડમાં સં�ૂણ� પસાર થઇ �ય છે. ઝડપી �નેની લંબાઇ કેટલી છે? (મીટરમા)ં
(A) 3245 (Correct Answer)

3245
(B) 3445 

3445
(C) 3345 

3345
(D) 3145 

3145

Question No.2 Marks: 1.00
Bookmark     

Kiran sells a car AC control knob for Rs.1785 and incurred a loss of 15%. Find the cost
price of the car AC control knob(in Rs.).
�કરણ કારના એસી ક� �ોલ નૉબને Rs.1785માં વેચ ેછે તેમાં તેન ે15% ખોટ થાય છે. તો કારના એસી ક� �ોલ નૉબની
પડતર �ક�મત શોધો (Rs.માં).
(A) 2100 (Correct Answer)

2100
(B) 1500 

1500
(C) 1800 

1800
(D) 1200 

1200

Question No.3 Marks: 1.00
Bookmark     

The average of 33 readings in a lab is 151 units. If the average of first 16 readings is 147
units and that of last 16 readings is 157 units, find the value of Seventeenth reading.(in
units)
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એક �યોગશાળામા ં33 અવલોકનોની સરાસર� 151 એકમ છે. જો �થમ 16 અવલોકનોની સરાસર� 147 એકમો
અન ેછે�લા 16 અવલોકનોની સરાસર� 157 છે, તો સ�રમા અવલોકન�ુ ં�ૂ�ય શોધો.
(A) 121 

121
(B) 117 

117
(C) 115 

115
(D) 119 (Correct Answer)

119

Question No.4 Marks: 1.00
Bookmark     

If January 1, 2104 is a Monday, then January 1, 2108 falls on which day of the week?
જો ���ુઆર� 1, 2104ના રોજ સોમવાર છે તો, ���ુઆર� 1, 2108 સ�તાહના કયા �દવસે આવે?
(A) Friday 

�ુ�વાર

(B) Monday 
સોમવાર

(C) Saturday (Correct Answer)
શ�નવાર

(D) Sunday 
ર�વવાર

Question No.5 Marks: 1.00
Bookmark     

Who is called the Father of Biology?
�વ�વ�ાનના �પતા કોન ેકહેવાય છે?
(A) Charles Darwin 

ચા�સ� ડા�વ�ન

(B) Alexander Fleming 
એલે�ઝા�ડર �લે�મ�ગ

(C) Francis Crick 
�ા��સસ ��ક

(D) Aristotle (Correct Answer)
એ�ર�ટોટલ

Question No.6 Marks: 1.00
Bookmark     

Find the value of X, if 7/20 of X + 30121 = 46340.
જો Xનાં 7/20 + 30121 = 46340, તો X�ુ ં�ૂ�ય શોધો. 
(A) 46380 

46380
(B) 46360 

46360
(C) 46320 

46320
(D) 46340 (Correct Answer)
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46340

Question No.7 Marks: 1.00
Bookmark     

What value should come in the place of question mark (?) in the following question?

1231+12×198/(2376÷6) = ?
નીચેના ��મા ં���ચ�(?)ના �થાને ક�ું �ૂ�ય આવશે?
1231+12×198/(2376÷6) = ?
(A) 1237 (Correct Answer)

1237
(B) 1241 

1241
(C) 1243 

1243
(D) 1239 

1239

Question No.8 Marks: 1.00
Bookmark     

What is the symbol for the element Chromium?
�ો�મયમ ત�વની સં�ા �ુ ંછે?
(A) Ci 

Ci
(B) Cr (Correct Answer)

Cr
(C) Ch 

Ch
(D) Cm 

Cm

Question No.9 Marks: 1.00
Bookmark     

Find the value of (a2+b2+c2), given that (a+b+c) = 123 and ab=2091, bc=1271, ac=1581.
(a+b+c) = 123 અન ેab=2091, bc=1271, ac=1581 હોય તો, (a2+b2+c2)�ુ ં�ૂ�ય શોધો.
(A) 5343 

5343
(B) 5543 

5543
(C) 5443 

5443
(D) 5243 (Correct Answer)

5243

Question No.10 Marks: 1.00
Bookmark     

The average of 57 consecutive numbers is 237. Find the sum of the 57 numbers.
57 અ�ુ��મક સં�યાઓની સરેરાશ 237 છે. આ 57 સં�યાઓનો સરવાળો શોધો.
(A) 13509 (Correct Answer)
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13509
(B) 14509 

14509
(C) 15509 

15509
(D) 16509 

16509

Question No.11 Marks: 1.00
Bookmark     

A shopkeeper had some rice bags in stock. He sells 62% of the stock and still has 399
rice bags. How many rice bags he initially had?
એક દકુાનદાર પાસે ચોખાની કેટલીક �ૂણોનો ભંડાર છે. ત ેભંડારનો 62% �હ�સો વેચી દે છે અન ેતેમ છતાં તેની પાસે
ચોખાની 399 �ૂણો પડ� છે. તો તેની પાસે શ�આતમા ંચોખાની કેટલી �ૂણો હતી?
(A) 1065 

1065
(B) 1060 

1060
(C) 1055 

1055
(D) 1050 (Correct Answer)

1050

Question No.12 Marks: 1.00
Bookmark     

In a construction project, two painters Akash and Basha paint the bungalow in 33 days.
If Akash alone can paint the bungalow in 132 days, in how many days can Basha alone
complete the same paint work?
બાંધકામના એક �ોજે�ટમાં, બે પેઇ�ટરો આકાશ અન ેબાશા બંગલાન ે33 �દવસમાં ર�ગે છે. જો એકલો આકાશ
બંગલાન ે132 �દવસમાં ર�ગી શકે છે, તો એકલો બાશા આ ર�ગવા�ું કામ કેટલા �દવસમાં �ૂ��  કર� શકશે?
(A) 44 (Correct Answer)

44
(B) 43 

43
(C) 42 

42
(D) 41 

41

Question No.13 Marks: 1.00
Bookmark     

If 155% of A = 177% of 155, what is the value of A?
જો Aના 155% = 155ના 177% થાય છે તો, A�ુ ં�ૂ�ય કેટ�ું છે?
(A) 177 (Correct Answer)

177
(B) 173 

173
(C) 179 

179
(D) 175 
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175

Question No.14 Marks: 1.00
Bookmark     

Find the value of (a2+b2-ab), given that (a3+b3) = 979560 and (a+b) = 120.
(a3+b3) = 979560 અન ે(a+b) = 120 હોય તો, (a2+b2-ab)�ુ ં�ૂ�ય શોધો.
(A) 7963 

7963
(B) 8263 

8263
(C) 8063 

8063
(D) 8163 (Correct Answer)

8163

Question No.15 Marks: 1.00
Bookmark     

A force observed by an observer moving with the body to act on the body in direction
away from the centre of circular path, is called the ______________ force.
એક અવલોકનકાર �ારા વ�ુ�ળાકાર માગ�ના કે��થી દૂરની �દશામાં વ�� ુપર ��યા કરવા વ��ુની સાથ ેફરતા અવલો�કત
બળન ે_________ બળ કહેવામા ંઆવ ેછે.
(A) gravitational 

�ુ��વાકષ�

(B) centripetal 
કે��ગામી

(C) propulsive 
ધકેલના��

(D) centrifugal (Correct Answer)
કે���યાગી

ANALYTICAL AND LOGICAL REASONING - ANALYTICAL AND LOGICAL REASONING

Question No.1 Marks: 1.00
Bookmark     

In a certain code language, if GIANT is coded as 7911420, then how is ROUTE coded in
that language?
એક ચો�સ સાંકે�તક ભાષામાં જો GIANTન ેસંકેતમાં 7911420 તર�કે લખવામા ંઆવે છે તો, ત ેસાંકે�તક ભાષામાં
ROUTEન ેકઈ ર�ત ેલખવામાં આવશ?ે 
(A) 191521204 

191521204
(B) 191521205 

191521205
(C) 181521205 (Correct Answer)

181521205
(D) 181521204 

181521204

Question No.2 Marks: 1.00
Bookmark     
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Replace the question mark with an option that follows the same logic applied in the
first pair.
Lion : Roar :: Rat : ??
�� �ચ�ના �થાને એ �વક�પ �ૂકો કે જે �થમ જોડ�માં લા�ુ પડતા તક� ને અ�ુસરતો હોય.
Lion : Roar :: Rat : ??
(A) Cluck 

Cluck
(B) Growl 

Grow
(C) Squeak (Correct Answer)

Squeak
(D) Squawk 

Squawk

Question No.3 Marks: 1.00
Bookmark     

Biju starts from his house and walks 5km North and turns towards his right and walks 2
km and continues in the same direction for another 5 km. He then walks 5 km in South
direction and finally walks 3 km in West direction. What is the distance between his
starting and ending point?
�બજુ તેના ઘરથી શ� કર�ન ેઉ�રમા ં5km ચાલ ેછે અન ેતેની જમણી બાજુ વળાંક લઇને 2 km ચાલ ેછે અન ેત ેજ
�દશામાં વ� ુ5 km �ુધી ચાલવા�ું ચા� ુરાખે છે. એ પછ� ત ેદ��ણ �દશામાં 5 km ચાલ ેછે અને અંત ેપ��મ
�દશામાં 3 km ચાલ ેછે. તેના ં�ાર� �ભક �બ�દથુી અં�તમ �બ�દ ુવ�ચે�ુ ંઅંતર કેટ�ું થાય?
(A) 10km 

10km
(B) 4km (Correct Answer)

4km
(C) 5km 

5km
(D) 7km 

7km

Question No.4 Marks: 1.00
Bookmark     

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
આપેલા �વક�પોમાંથી એવો �વક�પ પસંદ કરો કે જે અલગ પડતી શ�દ/અંક/અ�રની જોડ� હોય. 
(A) LO 

LO
(B) CX 

CX
(C) AZ 

AZ
(D) KG (Correct Answer)

KG

Question No.5 Marks: 1.00
Bookmark     

If in the word SALMONELLA, all the consonants are replaced by the previous letter in the
alphabet and all the vowels are replaced by the next letter then all the letters are
arranged alphabetically, which will be the sixth letter?
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SALMONELLA શ�દમાં જો તમામ �યંજનોના �થાને તેમની અગાઉનાં અ�રો �ૂળા�ર �માણ ે�ૂકવામાં આવે અને
તમામ �વરોના �થાન ેઆગામી અ�રો �ૂકવામા ંઆવ ેત ેપછ� બધા અ�રોને �ૂળા�રનાં �મમાં ગોઠવવામા ંઆવ ેતો,
છ�ો અ�ર કયો હશે?
(A) L 

L
(B) F 

F
(C) M 

M
(D) K (Correct Answer)

K

Question No.6 Marks: 1.00
Bookmark     

R is the only maternal uncle of T and L is the only paternal aunt of P. N is the son-in-law
of M who is the father of L. T is the daughter of N. Q is the only grandson of S who is the
mother of R. O is the paternal aunt of Q. How is M related to S?
R એ Tના મા�ૃપ� તરફથી એકમા� અંકલ છે અન ેL એ Pના �પ�ૃપ� તરફથી એકમા� આ�ટ છે. N એ Mનો
જમાઇ છે �યારે M એ Lના �પતા છે. T એ Nની �ુ�ી છે. Q એ Sનો એકમા� પૌ� છે �યારે S એ Rની માતા છે. O
એ Qની �પ�ૃપ� તરફથી આ�ટ છે. Mનો S સાથે �ું સંબંધ થાય?
(A) Father-in-law 

સસરા

(B) Father 
�પતા

(C) Husband (Correct Answer)
પ�ત

(D) Mother 
માતા

Question No.7 Marks: 1.00
Bookmark     

If in the number 8932765143 first all the even digits are arranged in descending order
and then all the odd digits are arranged in ascending order, which digit will be in the
fourth position from the right?
8932765143 સં�યામાં જો �થમ તમામ સમ અંકોન ેઘટતા �મમાં ગોઠવવામા ંઆવ ેઅન ેત ેપછ� તમામ �વષમ
અંકોને ચડતા �મમાં ગોઠવવામાં આવે તો, જમણી બાજુથી ચોથા �થાને કયો અંક હશે?
(A) 2 

2
(B) 3 (Correct Answer)

3
(C) 1 

1
(D) 4 

4

Question No.8 Marks: 1.00
Bookmark     

Pointing to a boy in a photograph, a lady said, "He is the only child of wife of grandfather
of my daughter." How is the boy related to the lady?
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એક તસવીરમા ંરહેલા છોકરા તરફ આંગળ� ચ�ધીન ેએક મ�હલાએ જણા��ું કે, "ત ેમાર� �ુ�ીના �ાંડફાધરની પ�ની�ું
એકમા� સંતાન છે." છોકરાનો મ�હલા સાથે �ું સંબંધ થાય?
(A) Uncle 

અંકલ

(B) Husband (Correct Answer)
પ�ત

(C) Son 
�ુ�

(D) Nephew 
ને� ૂ

Question No.9 Marks: 1.00
Bookmark     

Replace the question mark with an option that follows the same logic applied in the
first pair.
Offence : Crime :: Conflict : ??
�� �ચ�ના �થાને એ �વક�પ �ૂકો કે જે �થમ જોડ�માં લા�ુ પડતા તક� ને અ�ુસરતો હોય.
Offence : Crime :: Conflict : ??
(A) Calm 

Calm
(B) Agreement 

Agreement
(C) Battle (Correct Answer)

Battle 
(D) Peace 

Peace

Question No.10 Marks: 1.00
Bookmark     

A child is standing in a lawn facing North-West direction. If the child turns 152.5 degrees
in anti-clockwise direction and 62.5 degrees in clockwise direction, which direction will
he face now?
એક બાળક ઉ�ર-પ��મ �દશા તરફ મ� રાખીન ેલૉનમાં ઊભો છે. જો બાળક ઘ�ડયાળના કા�ટાની �વ�� �દશામાં
152.5 �ડ�ી અને ઘ�ડયાળના કા�ટાની �દશામા ં62.5 �ડ�ી ફરે તો, હવ ેતે�ુ ંમ� કઇ �દશા તરફ હશે? 
(A) South-West (Correct Answer)

દ��ણ-પ��મ

(B) North-East 
ઉ�ર-�ૂવ�

(C) South-East 
દ��ણ-�ૂવ�

(D) North-West 
ઉ�ર-પ��મ

Question No.11 Marks: 1.00
Bookmark     

Choose the alternative which is an odd word/number/letter pair out of the given
alternatives.
આપેલા �વક�પોમાંથી એવો �વક�પ પસંદ કરો કે જે અલગ પડતી શ�દ/અંક/અ�રની જોડ� હોય.
(A) Soar (Correct Answer)
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Soar
(B) Drop 

Drop
(C) Descend 

Descend
(D) Sink 

Sink

Question No.12 Marks: 1.00
Bookmark     

In a certain code language, if SCOPE is coded as EUQGR, then how is PAPER coded in
that language?
એક ચો�સ સાંકે�તક ભાષામાં જો SCOPEન ેસંકેતમાં EUQGR તર�કે લખવામા ંઆવ ેછે તો, ત ેસાંકે�તક ભાષામાં
PAPERન ેકઈ ર�ત ેલખવામા ંઆવશ?ે
(A) RCRGT 

RCRGT
(B) VITET 

VITET
(C) CRRTG (Correct Answer)

CRRTG
(D) KZKVI 

KZKVI

Question No.13 Marks: 1.00
Bookmark     

Find the next number in the series.
311, 335, 294, 318, 277, ?
આ �ેણીમા ંઆવતી આગામી સં�યા શોધો.
311, 335, 294, 318, 277, ?
(A) 311 

311
(B) 292 

292
(C) 301 (Correct Answer)

301
(D) 321 

321

Question No.14 Marks: 1.00
Bookmark     

Find the next number in the series.
1, 2, 4, 7, 28, ?
આ �ેણીમા ંઆવતી આગામી સં�યા શોધો.
1, 2, 4, 7, 28, ?
(A) 35 

35
(B) 33 (Correct Answer)

33
(C) 32 

32
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(D) 38 
38

Question No.15 Marks: 1.00
Bookmark     

Find the next number in the series.
41, 43, 46, 51, 58, ?
આ �ેણીમા ંઆવતી આગામી સં�યા શોધો.
41, 43, 46, 51, 58, ?
(A) 69 (Correct Answer)

69
(B) 71 

71
(C) 67 

67
(D) 74 

74

COMPUTER KNOWLEDGE - COMPUTER KNOWLEDGE

Question No.1 Marks: 1.00
Bookmark     

In computing, ___________________ is the total time taken between the submission of a
program/process/thread/task (Linux) for execution and the return of the complete
output to the customer/user.
ક���ુ�ટ�ગમા,ં _______________ એ અમલ માટ ે�ો�ામ/�ોસૅસ/�ેડ/ટા�ક (Linux)ના સ��મશન અન ે�ાહક/
વપરાશકારન ેસં�ૂણ� આઉટ�ુટ પરત કરવાની વ�ચ ેલેવાતો કુલ સમય છે.
(A) real time 

વા�ત�વક સમય (ર�યલ ટાઇમ)

(B) turnaround time (Correct Answer)
ટન�અરાઉ�ડ ટાઇમ

(C) time lapse 
વીતેલો સમય (ટાઇમ લૅ�સ)

(D) shortest remaining time 
અ�તઅ�પ બાક�નો સમય

Question No.2 Marks: 1.00
Bookmark     

The ___________ executes the entire program at a time, but the _______________ executes
each and every line individually.
___________ એક જ સમય ેસમ� પો�ામન ેએ��સ�ૂટ કરે છે, પર�� ુ_______________ દરેકે દરેક લાઇનને એક
એક કર�ન ેએ��સ�ૂટ કરે છે.
(A) assembler, interpreter 

ઍસે��લર, ઇ�ટર�ીટર

(B) compiler, assembler 
ક�પાઇલર, એસે��લર

(C) compiler, interpreter (Correct Answer)
ક�પાઇલર, ઇ�ટર�ીટર

(D) interpreter, compiler 
ઇ�ટર�ીટર, ક�પાઇલર
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Question No.3 Marks: 1.00
Bookmark     

Compared to __________, the transistors are smaller, require less power and produce less
heat.
__________ ની સરખામણીમાં, �ા��ઝ�ટસ� નાના હોય છે, તેમને ઓછ� વીજશ��તની જ�ર પડ ેછે અન ેતેઓ ઓછ�
ઉ�મા પેદા કરે છે.
(A) VLSI chips 

VLSI �ચ�સ

(B) LSI chips 
LSI �ચ�સ

(C) Integrated circuits 
સંક�લત સ�ક��સ

(D) Vacuum tubes (Correct Answer)
વે�ુમ �ુ�સ

Question No.4 Marks: 1.00
Bookmark     

Which of the following advantages belongs to Star Topology?
�ટાર ટોપોલૉ�ન ેલગતા ફાયદાઓ નીચેનામાંથી કયા છે?
(A) Easy to install and maintain. Can be extended easily. Very reliable because of

single transmission line. 
ગોઠવવા�ુ ંઅન ે�ળવણી કરવા�ું સહે�ું છે. સરળતાથી �વ�તાર� શકાય છે. એકલ �ા�સ�મશન લાઇનના
કારણ ે�ૂબ �વ�સનીય છે.

(B) Existing network can be easily expanded. Point-to-point wiring for individual
segments means easier installation and maintenance. Well suited for temporary
networks. 
હાલના નેટવક� ન ેસરળતાથી �વ��ૃત કર� શકાય છે. �ય��તગત સેગમે��સ માટ ેપોઇ�ટ-ટુ-પો�ટ વાય�ર�ગ
એટલે સરળ ઇ��ટોલેશન અન ે�ળવણી. અ�થાયી નેટવ�સ� માટ ે�ૂબ અ�ુકૂળ છે.

(C) Failure of one node does not affect the network. Troubleshooting is easy as
faulty node can be detected from central node immediately. Simple access
protocols required as one of the communicating nodes is always the central
node. (Correct Answer)
એક નોડની �ન�ફળતા નેટવક� ન ેઅસર કરતી નથી. �ુ�કેલી�ુ ં�નવારણ કરવા�ુ ંસરળ છે, કારણ કે
કે���ય નોડમાંથી ખામી�ુ�ત નોડને તરત જ શોધી શકાય છે. સરળ ઍ�સૅસ �ોટોકોલની જ�ર હોય
છે, કારણ કે ક��ુ�નકે�ટ�ગ નો�સનો એક નોડ હ�મેશા કે���ય નોડ હોય છે.

(D) Small cable segments are needed to connect two nodes. Ideal for optical fibres
as data travels in only one direction. Very high transmission speeds possible. 
બે નો�સન ેજોડવા માટ ેનાના કેબલ સેગમે��સની જ�ર પડ ેછે. ઑ��ટકલ ફાઇબસ� માટ ેઆદશ� છે, કારણ
કે ડટેા ફ�ત એક જ �દશામાં વહન કરે છે. �ૂબ ઉ�ચ �સારણ ઝડપ શ� છે.

Question No.5 Marks: 1.00
Bookmark     

Every cell in an Excel worksheet contains an address, which is defined by ________.
ઍ�સૅલ વક�શીટમાં દરેક સેલ એ�સે ધરાવે છે, જે ________ �ારા ઓળખવામાં આવ ેછે.
(A) a row number 

રો નંબર

(B) a column number followed by row letter 
કૉલમ નંબર ત ેપછ� રો લેટર
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(C) a row number followed by a special character 
રો નંબર અન ેત ેપછ� એક ખાસ કૅરે�ટર

(D) a column letter followed by a row number (Correct Answer)
કૉલમ લેટર ત ેપછ� એક રો નંબર

Question No.6 Marks: 1.00
Bookmark     

Statement A: Allocation and de-allocation of resources are performed by File
Management.
Statement B: Allocation and de-allocation of processor to processes are performed by
Process Management.
�વધાન A: �રસોસ�સ�ુ ંઍલોકેશન અન ેડ�-ઍલોકેશન ફાઇલ મૅનેજમૅ�ટ �ારા કરવામાં આવ ેછે.
�વધાન B: ���યાઓને �ોસૅસર�ું ઍલોકેશન અન ેડ�-ઍલોકેશન �ોસૅસ મૅનેજમૅ�ટ �ારા કરવામાં આવ ેછે. 
(A) Statement A is false and Statement B is true 

�વધાન A ખોટુ�  છે અન ે�વધાન B સા� ુછે

(B) Both the statements are false 
બંન ે�વધાનો ખોટા� છે

(C) Statement A is true and Statement B is false 
�વધાન A સા� ુછે અન ે�વધાન B ખોટુ�  છે

(D) Both the statements are true (Correct Answer)
બંને �વધાનો સાચાં છે

Question No.7 Marks: 1.00
Bookmark     

In Microsoft Word, To sort a single column on a Table you need to select the column you
want to choose and select SORT option from _________ ribbon.
માઇ�ોસો�ટ વડ�માં, કો�કમાં એક �સ�ગલ કૉલમને અલગ પાડવા તમ ેપસંદ કરવા માંગો છો ત ેકૉલમને પસંદ કરવાની
અન ે_________ �રબનમાંથી SORT �વક�પન ેપસંદ કરવાની જ�ર પડ ેછે.
(A) FORMULAS Ribbon 

FORMULAS �રબન

(B) LAYOUT Ribbon (Correct Answer)
LAYOUT �રબન

(C) VIEW Ribbon 
VIEW �રબન

(D) INSERT Ribbon 
INSERT �રબન
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________ was the first Electronic programmable computer and was similar but faster than
the Colossus.
________ એ �ો�ામ કરવા યો�ય �થમ ઇલે��ો�નક ક���ુટર હ�ુ ંઅને ત ેકોલોસસ જે�ુ ંપર��ુ તેનાથી ઝડપી હ�ુ.ં
(A) Differential Analyser 

�ડફર��શયલ ઍનેલાઇઝર

(B) ENIAC (Correct Answer)
ENIAC

(C) Analog Computer 
ઍનેલૉગ ક���ુટર
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(D) Abacus 
ઍબેકસ
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Which of the following functions of an operating system decides which process gets the
device when and for how much time?
ઑપરે�ટ�ગ �સ�ટમ�ું નીચે પૈક��ું ક�ુ ંકાય� એ ન�� કરે છે કે કઇ ���યાને �ારે �ડવાઇસ મળે અન ેકેટલા સમય માટ?ે
(A) Processor Management 

�ોસૅસર મૅનેજમૅ�ટ

(B) Device Management (Correct Answer)
�ડવાઇસ મૅનેજમૅ�ટ

(C) Memory Management 
મૅમર� મૅનેજમૅ�ટ

(D) File Management 
ફાઇલ મૅનેજમૅ�ટ
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Which short cut key allows the width of the column to be altered and increases the
overall width of the table accordingly?
કઇ ક� વડ ેકૉલમની પહોળાઇમાં ફેરફાર કર� શકાય છે અન ેત ે�માણ ેકો�કની એક�દર પહોળાઇ વધ ેછે?
(A) CTRL Key 

CTRL (ક� �ોલ) ક�

(B) RIGHT ARROW Key 
RIGHT ARROW (રાઇટ ઍરો) ક�

(C) SHIFT Key (Correct Answer)
SHIFT (�શ�ટ) ક�

(D) WINDOWS Key 
WINDOWS (�વ�ડોઝ) ક�
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Any two cell locations separated by a colon are known as a _______.
કોઇ પણ બે સેલ �થાનોન ેકોલન વડ ેઅલગ કરવામા ંઆવે તેને _______ તર�કે ઓળખવામાં આવ ેછે.
(A) worksheet 

વક�શીટ

(B) formula 
ફો��ુ�લા

(C) object 
ઑ�જે�ટ

(D) cell range (Correct Answer)
સેલ રે�જ
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